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Rajasthan CET 12th Level 4 Feb 2023 Second Shift Question Paper

’}» Wthh is named as ‘Dhand’ in the Thar Desert N7

A nar ited by rivers
A) Artes; : % Ow belt of pebbles deposited by
EB) Pl:;Sl‘c?n . - Ponallel g ghe slopes of the Shivaliks is known as-
a|
(C) Oasis ooy (A) Bhangar (B) Kankar

(C) Bh 2
(D) Depression ; abar (D) Terai
n crescenf dune . Py g :
DI S S e AL Rrard T e leh

(A) e 0 0 o o & -

(B) o 4 (A) Wi (B) @it
e | (©)

©) afmem Wy (D) @

\ .
v \{ The progess in which a carbonate ore 1s heatefl
i Strongly i presence of limited air to convert it

\l\ 'W""Wm%rmﬁ'm%—

0 metal oxjde i lled -
(A) gt foman (B) =murg fiFan Mo metal oxide is ca
(A) Calcinati B) Smeltin
(©) e | Cination (B) g
o (D) wwdm fimar ; | (©) Roasting (D) Reduction
A, What is reas f fi ; t memmaﬁm@m |
and famine ic:unfgajars‘::::‘?t .oc.currence oFtrough I % i a1g o Sy safeafs & gear & T fear
(A) Soil erosion ST ¥, e ¥ -
(B) Irregular rain ‘ (A) Premes (B) WA
(C) Deforestation ) wim (D) gagT

(D) Irrational use of water

\
TS § qry— i
A i S-S AH™ qg @ BT R BT & ? \ Pf)pulation of a city is 1 crore. If number of live
. H BT B birth is 85 thousand, the Birth rate is - s
e ;’Wa“* : O ST 3t e | Bl ¥tk o o= Rrgei
D) A Ferd 'ﬁWSSW%.HﬁWR%—
(D) == & sfymqet sd (A) 8.5 (B) 0.085
. (©) 0.85 D) 85
4 Lithium carbonate gives on heating — >
(A) Li & CO i 5
(C; g éO, Eg; [[:;»OC&&CC(:)OZ R _Chbarcoal is used to remove colouring from pure
s 2 b substance. It k
fafram Frte ™ &@ wiw - i i
X7 13 GO B 1 il (A) adsorption (B) bleaching
: 25D (B) f’ C Co, (C) oxidation (D) reduction
(©) Li,O0 3R CO, (D) LiO st CO, i
ﬂmmméémﬁm%ﬂﬁmﬁmm
" How many minimum meetings of Gram Sabha are VP P Y s 8 ¥
compulsory in a year? (A) afahom (B) T
T T B 0% ¥ Reerlt e do ofrard 3 7 ©) st (D) s
(A) 4 (B) S
\@) 2 (D) 3 \ A person buys pens at the rate of 11 pens in T 10
. 1 and sell them at the rate of 1 Pens inX 11, What
6~, Who is author of Amarkavya Vanshavali? is his profit in percentage? e
(A) Sadashiv Bhatt (B) Ranchhod Bhatt T A 10 % 11 49
T W @l
(C) Jeevadhar (D) Jagjivan Bhatt H=INFI0W Ay <T@ ¥ | THe il
SHH TN &7 TEd BT & 7 ‘ ¥ ¥? ' bl
(A) "aRm@ wg (B) Tomks wg (A) 11% (B) 21%
(C) shamerx (D) el wg (©) 9% (D) 10%

Hvs2 | ) )
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g There is a definite relationship b

problem figures. Based op Same SeN firg, two
choose the correct answer ﬁgu'_e' rela'ionship

mammma;%%%m
m%mwuﬂmmmmhw
Problem’ Figures / e sy T e

@ LY [ -

M (1D

v
Answer Figures / a9y HEfai
(A) (B) OQO
_\
S
©) & (D) CA;
]

On March, 2022 Yogj Adityanath hag been swo
in as the Chief Minister of Uttar Pradesh fo Secm:j‘
straight term. He is the C.M. of the i

(A) 29th (B) 30t

(C) 31t (D) 33rd

T, zozzﬁuﬁiﬁ\mﬁmu%anm@}m%
ferg 3% Rt & gl & w0 ¥ www @ aw g
& g ¥
(A) 29 §

(C) 31 %

(B) 30§
(D) 33 3

Guindy National Park is located at
(A) Chennai (B) Mumbai
(C) Bengaluru (D) Kolkata
RESLR U i | o B - b |

(A) 3= (B) g3

(C) (D) Heear ]

Which of the following is different from others?

(A) Triangle (B) Square
(C) Cone (D) Circle
P & A a7 a1 oa @ far 87
(A) B ¢ J(B) @i
©€) sip 0(1,{) EAl

HVS2 |

k A 14 years old student is not abje ¢, see clearly

the questions written on a black board placed at a
distance of 5 m from him. The styden, is suffering
from which defect and to correcy vision of his
eyes. what type of lens should he yse9

(A) Hypermetropia, Concave lens

(B) Hypermetropia, Convex leng

(C) Myopia, Concave lens

(D) Myopia, Convex lens

& 14 3 & fendt ™ TR 0T e gy wei @
5. @ gt & | T 96 U 1 fraed fpg Ay O
% 8 ¥ v g S b B 2 e
ST B ?

(A) R 3he A, oraaa &9

(B) I 3fz 2w, gua @@

(C) Pz gfe A, s@aa @F

(D) Fe 3fe Qw, soa @d

The beneficiary group of Rajasthan Shubh Shakti
Yojana is -

(A) Women business persons

(B) Girls and women of labour family

(C) Startup owners

(D) Street vendors

T 9 i A & AT W ¥ -
(A) wfeen =y

(B) #ftr uftar =t wefpal 9 wfeamd

(C) wréaw gwms

(D) gty fashan

The Jain Granthas Harivansh Puran and
Kuvalyamala were composed during the reign of
Pratihar ruler
(A) Mihir Bhoj
(C) Vatsaraj

(B) Mahindrapal 1
(D) Rambhadra

gl amEs - & T HW N W Ty
zﬁéawwwmaﬁmwl

(A) fafex Wi (B) wit=zurea waw

(C) Tmw (D) TR

Reliance Industries Limited will develop India's
first Multi Model Logistic Park in -

(A) Tamil Nadu (B) Rajasthan

(C) Gujarat (D) Karnataka

fremig gveedir Rifirds 1 WICd &1 W W) e

wtaRes arh _ — ¥ fawfaa fear s
(A) aftrerrg (B) T
(©) o (D) Hiem
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Cinnamop, is Obtained from which part of the plant?
(A) Lear (B) Flower

(€) Roo (D) Bark
T, TR ¥ R ur @ e A 7
©€) w= (D) B

Fatty liver s present in - o
(A) Scurvy (B) Pellagra @
(C) Marasmys (D) Kwashiokkdr
O T P g - ™
(A) =4t 3 (B) ¥wmm ¥ O\
©) e 2 & (D) FfmdrcaRRly

Fill in the blank with the correct opfioh.

he teacher taught us that the eawfyy
round, .

N
(A) ‘was (B) are iy
©) is (D) were (Y}

O\l :
Which one of the following trees is re'cQ source of
gum in Rajasthan? ‘
(A) Salar (B) Khair
(C) Teak (D) Dhokra ™
ﬁ%qeﬁﬁémmqamkgﬁa%m
BT B &7 O
(A) "R ®) & )
(C) srrEm (D) e &)

In which of the following distri&td) Maharac

Shekhaji Armed Force Training Academy is under
construction? o™

(A) Sikar (B) Ganganagar

(C) Bikaner (D) Churu (@)
ﬁw&rﬁﬁﬂ‘émmﬁwaﬁmmwaﬁ
wfdterr srredt Prfomd 2 2 .

(A) @&t (B) Tt (g

(C) dr=rr (D) g& N\

Chambal Project is a joint venture pf*states of -
(A) Rajasthan and Gujarat O

(B) Rajasthan and Madhya Pradesllﬂ
(C) Rajasthan and Haryana LY

(D) Rajasthan and Punjab %o

T qﬁzﬁﬁﬂlﬁﬁq'ﬂvﬁfaﬁ'dgaa W%FET“'%.aii
(1); AT S Y N

(B) TR 3T 988 Wy -

(C) vrer e s

(D) T e dor

[

>'6 How many districts are desert districts i,

&x

DN

(A) (B) &el

(C) gz (D) wrggT

Golden rice was produced to reduce the deficiency
of among people. .

(A) Folic acid (B) Magnesium

(C) Vitamin B, (D) Vitamin A

YR AT 1 s @ A B & B B
B F forg frar )

(A) v s (B) #Fifdrgg

©) foafm &, (D) fqarfm g

Rajaslhan?

T 3 R 4 @ et ot o 7
(A) 12 (B) 13
(©) 10 (D) 11

Which state sent military help for the assistance
of the Maharao of Kota in the freedom struggle of
18572 '

(A) Udaipur (B) Karauli

©) Jaipur (D) Jodhpur

1857 & Tcisran g ¥ FreT WEWTE B GEddl & i
o9 T 3 4 e w7

Go through the following poem and answer the |
question given below:

- O Rose thou art sick,
The invisible worm.
That flies in the night
in the ha'ling storm:
Has fouﬁd_out th?Qed
of crimson joy:

And his dark segret love
Does thy life ,@roy.

What does the 'worm’ symbolize here?
(A) Howling storm (B) Death and decay
(C) Secret love (D) Life and beauty

How much percent js 200 ml of | litre?

| foret & foaen wyerg 200 firefy %2
(A) 20% (B) 200%
(C) 0.2% (D) 29,

Choose the correct option,
Tenders should be written in a language that is -
(A) stylish

(B) brief and to the point

(C) roundabout lengthy

(D) informal

[ Contd...
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i the volume of a right circuly, )
. . » One 2
d height is 12:m- The diameg, 15 167 13

T m,
(€ 4 m; (D) 2y,

o1 0 TEIAT I F A g
o @ ¥ 5@ STUI & e § "W T g
(C)4‘ff. (D) 2 %

e baSC 1S -

[n order to get a diminished, virty
image. the object can be placed
of 3 ——— mirror.

(A) plane
(B) either concave or convex

(C) convex

(D) conca%t;) e :

frdt aeg (199) BT BI, ST 7 ey

@l & - =
(A) T

(B) a1 A A AT I

(C) ¥dsd

(D) &rade

The bacteria E. Coli responsible for diarrhoea are:
(A) Gram neutral (B) Non invasive

(C) Gram positive (D) Gram negative

W % A SR §. Biems SEn e ¥

(A) T IETEEA (B) A gafea

(C) ™ YIS (D) 7™ RS

hosphorus cycle?
A) Pigeon (B) Humming bird
(C) Guano (D) Kingfisher
P & @ @ @1 TE HrenE 9 B 0@
w@r?

(A) BT
(C) Tamr

\%\’hich of the following bird is linked with

(B) efim & .
(D) femitear

1e left and Aman
hey interchanged
;kman become's
| be Romas

In a row Roma is eighth from tl
is seventh from the right. When
their places among themselves. then d
cleventh from the right. Then what #!
position from the left?

(A) 12th (B) 13':
@‘iﬁlﬁﬁﬁmaﬂﬁeﬂ'{ﬁaﬂzﬁf%amm e
¥ Arai %) org A e F ST '%i @ T A
¥ A o andt o @ rrced 8
WH ARl s g @@ Em?
(A) 124 (B) 134
€) 103 (D) 1140

vs2 1 O

A

The members of Legislative Council are appoi"'ed
through -
(I) Direct elections
(I Indirect elections
(111, Nomination
A ) and iy (B) () and (111)
(€) and (1) (D) (1), (I1y and (111
: % weadl B I fhur ww ¥ -

() e g @
() ¢ Srerer g &
(1§ A &
(A O i 1y
(C) (1) 3T (1)

"

(B) (1) & (11N
(D) (D). (11 3wz (1)

Trah&brmation of input into output is performed

by €

~ (A)LEPU

(B) (e input-output unit
©)¢ ripherals
(D)(-gPS '
Qe ¥ ez ¥ uiEdH ReEdh wa g ¥ 7
(A) (W9,
(B)\ FJIZ — 9STYE TR
(C) (et
(D) gyt
49!
In hoyg many districts of Rajasthan Tribal Area
Develgpment Scheme is being implemented?

o™ % Rpay Rel & seendra & R w@he A

H YN &7
(AL g9 (B) 12
(OT8 ) (D) 8

Un(ié;)which Article of the Indian Constitution
the Gavernor can reserve the bill passed by the
legigjé:re for President's approval?

(A) icle 213 (B) Article 200

(©) ..Article 256 (D) Article 257
W & fra ot % deq THEUTE TAU Hse

2T e fod fordras @ Tz @ @l ¥ g
@ T 37

(A)t;@a&z 213 (B) SH=HE 200

c 256 D 257

(©) Sty (D) srye3

Chdo¥e the correct antonym of the following word
from the options given below :

Encourage
(A) incite (B) persuade
(C) aid" (D) discourage
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\Zk b in the System input, process and output aré

:(/:(),WI? \Eilh Certainly, such system is called
“ovabilist; ’ Deterministic
(C) Open Ic (B)

(D) Close
W%mtﬁw,mamﬂﬁﬁ@
TE 9 3, o TR weardt & .
(A) (B) Praas
©) i (D) w=t
\‘} VLOOKUP function used to :
(A) Check if two cells are identical

(B) F ind non related records
(C) Find related record A

(D) Looks up text that contain ‘V’

VLOOKUP e o arar & -

(A) ﬁﬂwﬁwm%ﬁqm‘%
oy (B) Wﬁﬁﬁ%gmﬁ‘aﬁﬁﬁéiﬁm%

©) PRy I Featd Goar &

(D) TE A= gom & Rew v R

Which one of
(A) Khedapa - Ramdas;ji
(B) Singhthal - Harivanshji
(C) Ren - Dariyavji

(D) Shahpura - Ramcharanji

. ﬁéﬁamwmmgﬁm%
(A) @=9r - Teresh

(B) Rizue — efggmh
(C) o - zfgrash
(D) =g — e

45 In which medical colle
of Paediatrics and Neonatology will be establ;
(A) JK Lone Hospital, Kota
"(B) JLN Medical College, Ajmer
(C) SN Medical College, Jodhpur
(D) SMS Medical College, Jaipur
T & fby Ao araw
Froferaaioh e & e o st ?

(A) 9% @ eiediem, Fer

(B) AuH.. dRww wiw, s
©) taw. Awa s, wragT
D) wworug. Afeay Fiet, TEYT

Which of the follow
destination i India Si
202279

(A) Kumbhalgarh

ing forts is awarded

: (B) Ranthambore -
(C) Jaigarh (D) awamahal

H
Frafafe ol % 3 fr 2w

LR RC |
Rt smseqa dam smatd 2022 ¥ TS oy ?
(A) FewTe (B) oy
(C) waTe (D) &amEw

HVS2 ] O

the following is wrongly matched?

ge of Rajasthan, Institute

lver Outlook Traveller Award

?

shed?

. N

HER|

Q) R fadam e i & < el 3 S ot

The first Lokayukta of Raj aSth[a)n l‘z,:zr;ni
(A) K.S. Sidhu (B) M. U. Menon
(©) 1D. Dua (g) KR
TRAM & gemy Agad 4 2
(A) Fw (B) w3 il
©) omid gm (D) BNY

“Zero Hour” in Indian parliamentary system

implies the - o |

(A) time allotted for informal dlscusbs'llcin between

i i a oill.

two stages of discussion on ' .

(B) Specific time allotted for a discussion on

budget. )

(C) time between question hour and next item on |

the agenda when the members raise any
matter without permission of the chair.

(D) exact time when the question hour ends.

A B HEdg qomeh ¥ ‘g w1 ey § 7

wa & forg omefen @

(B) =wrz w3 =uf & frq ameifen e
©) 9 Fm ol Hrig B erreh 9T F drg W
W W9 W SEE A oAty % AT B

o wor %)
(D) T S WG ST WY B gET Or )

B W I YER WS < Sy ¥?

(A) AB™ (B) AB*

©) o (D) o*

Famous painter Sahibdeen belongs to which school
of painting? : :
(A) Dhundhar (B) Alwar

(C) Mewar (D) Marwar

witvs R aiftad e R Y
Tt ¥ ?

(A) TR (B) et

(€) ¥ars (D) wrears

‘Chhappan Plain® is ¢
(A) Chittorgarh ang
(B) Pratapgarh anq
©) l2answara and Kushalgarh
(D) Banswara anq Dun

BT H AT Ry ¢ s
(A) fadters g ST
(B) WaUTe aiy BLEE S IS
(C) wiwamE aiy DITG & iy

ituated in befween -
Pratapgarh !
Banswara

(D) WWW%%
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) The average of 8 consecutjye inte

Berg ;. 23
is the average of first three inte AL

What §9\ An aggrieved person can file 5 wrig petition for
2+ Wha

g8ergn the violation of fundamental rights in :
1 23 ) (A) Supreme Court only
HATTd q9||3§| & g <2, P
, 2 & ey e oty (B) High Court or Supreme Court |
Jir|a F 7 &l (C) High Court only ’
(A) 9 (B) 19 (D) District Court only
©) 7 (D) 3 Wit sl % & O T i s R gt
Which place is famous for |, B ok !
(A) Sawai Madhopur (B) C'a?k Potterys (A) Haw Segaqw Araed ¥
(C) Jaipur (D) B::to"ga_rh (B) =@ =raerg @1 SO Ry
' SWara (C) ¥am v=g 4w ¥

mw%m%mmm“‘”%%? (D) ¥aw forer e '

A W) FRTRR (B fgen b ~
C) WAy D) g
© (D) : }\\ Which function is used to calculate_ remainder in

& Which Rawat (Noble) had gjye g B F MS Excel? . .

Charan during the 1857 Rgvo]??Shelt'er to Bhimii A (Remainder) aﬂﬁ? & fe o w waww A
(A) Ranjeet Singh  (B) None of these B W G wEm A A ¥ 7 -
(C) Kesari Singh (D) Jodh Singh (A) INT() (B) FACT()
1857%W%WMW$}MW( ) (C) DIV() (D) MOD()
gy & oy ? A
(A) TtaRts (B) % @ B T E\ By which other name is Tartai Mata known, whose
(C) Fudfie (D) e temple is located in Talwara (Banswara)?

(A) Tripura Sundari (B) Aawri Mata
4 - (C) Gajlakshmi (D) Mahakali
ransferred in a ' £ R A (at ) ¥ Raa &

5 The rate at which information is
communication channel -

(A) Nano rate (B) Pixel rate 3% e ol W A A ST S %7
(C) Baud rate (D) Bit rate ‘ (A) Brgo g=d (By omardt A
masr&?éanw(%ﬂa)wﬁaﬁa‘ﬁa(iz (C) vorwesh (D) weTBE
HEA & — . ' .
A) ¥ = (B) P 3 \{2 Choose the most appropriate technical translation
€) s = (D) f§z = of the following word :
Circular
y 36) The ornament bajuband is worn on . (A) afcwmr (B) few
(A) ‘Ankle (B) Waist (C) uftuw (D) gam
(C) Chest (D) Arm
RESSECIV L U L 0] 3& Choose the correct alternative which can be
(A) & (B) &8Y substituted for the given sentence :
©) sy - (D) v The period of life in which a person is old and
) ‘ weak ‘

Which of the following is not one of Power Point - /(g L (B) Superannuation
view? ; C) D I ili
(A) Presentation view (B) Outline view (C) Dotage (D) Impecility
(C) Slide show vjewv(D) Sllde V;CW \The excavation work of Ahar was accomplished
P ¥ ¥ fataige o T8 ¥ under whose leadership?
(A) R o (B) omseeET F (A) HD. Sankalia (B) B.B. Lal
(C) wm=s Wy e (D) =S &4 (C) V.N. Misra (D) V.S. Wakankar

., , AT B @ & e g ¥ wfka gon e ?
Rou T A Wt Preiry ore Y R 7 i | (A) wed wehm (B S aw
AR mRm | GRET BT

7 . [ Contd...
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& 'SUBORDIN Ay & fedt qifonfe o= & -
(A) Py (B) werm
Bg IXIy kind Qfﬂyner generally ends with :
(C) SUbSCI!i\E.tjon (B) Heading
(©) Saluta@q (D) Signature
7 Cho f) )
N7 . ose the(qqrect preposition.
¢ took ages the job
J——— the job.
(A) eneath, (B) of
©) J;F‘ \

VR ot‘Tj\l

(D) above

(A) Platelﬁscf’n
(B) Lymp[‘f{i 2 tes
<) White{'.l% ood Cells
(D) Red Blood Cells
Rh ;,'? U e &5 P
(A) fmmy (g
(B) fermrgey
(©) R@m hrywa
(D) & sfag)s .

N

) gaE

In which distct of Rajasthan factory of Havells
India is located?

(A) Kota ) (B) Jaipur

(C) Alwar\&? (D) Ajmer

T ¥ fi Ry ¥ 3w s ) bt R 27
A) s ) (®) sayT

(C) swax f\r} (D) T

How man%embers are nominated by the
Governor in _the Legislative Council of a State?
total membership
(B) 1/4 of i¢ total membership
(C) 1/6 of the total membership
(D) 1/3 of the total membership
T & T Y e 9w ¥ fres wewr aeirdg
i) I’"\J
fpd s &7,
N\ .
(A) sl & %ﬁ wEm &1 1/2
(B) wewdl @ g qE@ F 1/4
(C) wewi B Fa e & 1/6
(D) wewi @ Fa we @ 1/3

nvs21 )

(1) '
Rh factor '§ @n antigen situated on the surface of

T8

(A) 15271 cm2 B) 1927 cm? ‘

(C) 967 cm2 (D) 1007 cm2 !

16 & 9 12 0 oMo et oy P

' AT % it o

gq e T %lqam%mm%? |
- (A) 1521 a2 ‘(B) 1921 gup
(C) 96 a2 (D) 100 a2

[ Contd... |

. The first Chief of Defence Staff (CDS) of Indj

. usly confer
General Bipin Rawat was posthumo y. re

with which award? .

(A) Ashoka Chakra (B) Padma ;Lb’;:Shan
(C) Paramvir Chakra (D) Pariia ——
I & e i offs e & (CDS) T ity

(A) @9 =% (B) 7 g
(€) v o (D) TEH ™

Which is the rank of Rajasthan in India in termg
of population in 2011? :

(A) 12th Rank (B) 8" Rank 1
(C) 24th Rank (D) 27 Rank

U A Fe e B gite § T H 2011
HT §?

(A) 129 wy
(C) 24 af 3y

¥ &
(B) 83l & I
(D) 27at &4

Preifed 4 @ R awart Toes (TR) ¥ yailm
fomar wmar %2 '

(A) sifrgen
(C) fafaer

(B) HTEH
(D) uftgs

What is function of Rural Non-Farm Development
Agency (RUDA)? ‘

(A) To develop educational institutions

(B) To provide electricity in villages

(C) To develop agriculture

(D) To develop Non-farm sector !
T =P e wiftreor (&) &1 1 ‘FRf 27
(A) farar sl a1 R -
(B) el & fareielt—wqmey HAT
(C) Y & fyamg ‘

(D) M3 &5 &1 Ry

A circle circumscribes rectangle with sides
16 cm and 12 em, What is the area of the circle?
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1cage of Micu"osoﬂ c!ip gallery .
lA\S)gto add clip art pictures v ; £
tB) 1o remove slide 82 For what value of 7, (x+g) is a factor ©

() to add W(I“'d :rt (x" +a".)?
D) to spell check _ A) Only for even values of n
;ﬁﬁ(ﬁﬁz frera Al B iy (B) 0:]“y fg: f,f;d values of n
(B) Only
(A) frra ome T S % fire (C) For all values of
(B) WS H M & frg . (D) ofr‘q)y for prime values of n
¢) ¥ o e F forg R a), (<" +a") @
(o) < 3% & & g i il Ut

) (A).n, ¥aw g9 a1 & fog
which of the following enzymes (B) n% %aw faww w & fg
>orp are
‘molecular scissors™ in biotechnologys - called (C) n'% e arir % fig
(A gydf‘?l"‘?‘? ' (D) n‘Hldawm e Al & fa -
(B) Restriction enzyme oy
(C) DNA ligase }i Choose the correct option for the Passive
(D) Polymerase construgtjon.

fPrefoiad § § &= | LS Wreifira ¥ ‘yrrorh Every()Eei calls him a peacemaker.

a9 wearr & ? : (A) Hg'is called a peacemaker.
(A) TEEE : (B) Evelyone is called a peacemaker by him.
e T (e (C) Afpeacemaker he is called.
tg; S ?ﬂgﬁ'ﬂ ( T (D) He'js called to be everyone's peacemaker.
(D) e : B4 2024 Suinmer Olympic Games will be hosted by-
(A) Moscow (B) Qatar
The cube of 101 is - - (C) Tokyo (D) Paris
- Y101 # wHE ¥ - 2024 % Moraretr SR Qe B Ao A HOm ?
| (A) 1040401 » (B) 1050501 (A) =Rt (B) FaX
| (C) 1020201 D) 1030301 (C) 2 (D) E
L
79 In which state of India 68" Nehru Trophy Boat \ﬁi Partisan-glections for Panchayati Raj bodies was
Race was organised? recommepded by - )
(A) Karnataka (B) Andhra Pradesh (g) L -A'}?% Com!'t’tme-e
(C) Tamil Nadu (D) Kerala (B) Sadig Ali Committee

; - C) K. Santhanam Committee
% frw T ¥ 68 e i @iz (f) @ %D) Ashbk Mehta Committee

s @B T A ? tarad G denel % fu oot Prafaw & ergaian
(A) wHtew © (B) &Y R B/ AT -
(C) aftrerg (D) & (A) .. T wify
. (B) Hilkep ol gty
bf& Where is the fort of Achalgarh situated? \C) —a? T afy
, (A) Mount Abu (B) Alwar (D) aia\ Hean atif
(C) Ajmer ~ (D) lJalore . L
! TG g Hel Rad § 7 Choose the correct indirect form of the given
(A) Wz g (B) @l - - sentence)from the options given below :
(C) et . (D) W@ She said) "We were thinking of selling the house
but weg=have decided not to".
\ If the altitudes from two vertices of a triangle 10} (A) Sie said iy Dngiiliteelios tiehose
th . 4 tl the triang - ut decided no 0. .
(Ae) Ofspo(;iletfe:ldes e e(q[;;ll,scﬁgne (B) ,Sﬁe)said that they think of selling the house
(©) right-angled (D) equilateral . . ol ) &"ﬁ‘fﬁfﬁ'ﬁe‘fﬁé‘? hawe béen: thiniking of
A o g & 2 ot & g el T selling the house but had decide not to.
9 &, a T - (D) She said that they had been thinking of selling
22) g (B) faowag the house but had decided not to.
) WEH (D) @99Tg .

Hvsy ) O <] °o | [ Contd...
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87 BaC) 4 \B
. %) *Najso,  —Baso, &+ 2NaClgy s
an example of '
(A)

€Composi; i
(B) Carrs ion reaction

Mbinatio i - : i followi
©) Di N reaction 93% What should come next letter in the ng

Isplacement reaction '
Ouble displacement reaction

BaC| :
2(aq) + Na,S0, (aq) = BESO, é) +2NeCl )

= KL MLNHOGE[E R
?:) ﬁam:’m&m‘ (A) E ®F
(B) W v o © Q R |
@ ~ _ |
(©) Rree siffiear s 94 Tl'le lens in, Cartesi rdinate systen
, formula in Cartesian coo
(D) Fﬁ‘ﬁmnqq ftafear Ft is — ’ _ .
“Kas SR | Wwhere, u = object distance from optical center
~88\ (:i?ll;s.h Sankhala’. was. associated with, ) vu= i;:;: di:ance from optical center
(B) Bllf::; C:el;sre':\:;t;::v i S = focus distance from optical center
(C) Snak ; Wﬂﬁiaﬂmaﬁﬁa‘am@%— |
(D) B[i]:h:o‘i:ocllssizvamn - W, u = yoivrs d% @ few @ gl
‘SN FrEer gabag F — v = Wit Hu ¥ wlafes & gt
(A) =9 Heaw @ - S= veriie % ¥ wred gl i
(B) &t fzor wew @ 1 : :
(C) @9 dam ¥ o~ (B) f=v+u
(D) faed =iy @ ' .
L . 1 1.1 1 _1 1
8 R e i we-sed s 47 ©75n oy
9= ¥ wHE , :
- (A) dfw (B) s .~ S
(©) ==ufx (D) amuify R ?3'::! é;;l;:sg%r::mben ‘
%
Ctrl +Y is used to : i6 AT 4 25 4 4
(A) Redo or repeat last action "'7(7\ \ﬁ'?
(B) Undo last action S AR (25( ¥,
- (C) Align a paragraph - 0 2 s
. (D) Close a document < Q‘i'fl\s :
Ctrl + Y &1 & fear sian & - (A) 22 (B) 24
(A)aiﬁmfaimﬁﬂ'ﬁzmﬂgm%hq © 19

(B) sfw fsar g & % frg
W) T v s % fig
®) & e B = s ¥ g

\91' In aquatic ecosystem, the limiting factor for

productivity is

(i3) soil

(A) air
(C) light (D) water
& Sy WG ¥, SORsT B d B
2l
(B) 7
(A) a9 (D) =@

(C) warw

nvs2] O

N\

W
K Who is widely regarded as the father of the India's
, space programme?

\"{ %'Wﬁ’uﬁﬂmm;ﬂ?'
(A)Wan?mra i (B)
©) wig .| \p) W

letter series? :
’ 1
STET ARy & T ST F | S Y,

(D) 20

(A) Dr. A.PJ. Abdul Kalam
(B) Dr. Panchanan Maheshwari
(C) Dr. Homi Jahangir Bhabha
(D) Dr. Vikram Sarabhaj

T & SRR B 3 sy

! & e 27
(A) = TS, srgw wam |
(B) 1. WOFH wRyqd
(C) =t Bt i Wy
(D) =T Tomw wrrr
10 [ Contd...
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ere did Chief Minister As

&Wh

hok

foundati_on stone of Dr. Bp; Geh
(A) Bagn (B) Kigha.. .
(C) Alwar 1?) Jodhpugal"h
16 7@, 2022 B TE wsh St r
&, A s fufy ﬁ%‘mma 3
AT, ®) foyrg &
(C) ¥ (D) gy L |
From the top of a cliff 150 p, p;

$ depression of two boats are 600hla%‘:f ;hﬁ angle of
the distance between the boats if th 0°. What is
the opposite sides of the cliff? € boats are on-

(A) 2003 m (B) 200 m -

© 5043 m (D) 10043
150 . Sl T2 & W F 2 T a1 e

60° a1 30° ¥ 7EY % Hem .
ot R X A7 R TR g
(A) 20043 . (B) 200 %
(€) 5043 . (D) 10043 .
W aETEE 9= F T @ aeds amis b -
(A) &R § T W a1
(B) S@ra T & g
©) ¥ ? Ric o
(D) #&® FHH arl
hm:mﬁ‘wmﬁ'w%?
(A) femrea (B) fimrm
©) T (D) @

ed % g oug @ oY @ FH FT
(A) am—&amﬁtww

(B) B9 YT §& 7 B

C) @15 &1 Iy B

(D) smr A g Pl @

l&“‘e median marks from the following ¢
frequency curve is - - N
dolt angfa am | wifEe qra@

50

umulative

..............

- N W
co3 88
1
]

U

" No. of Students

frenRiaY @ @@

“30 20 30 40 50 60
Marks / qr<iid —>
(B) 60
(D) 35

y

11

\o

is a process of translating a task into 2
series of commands that a computer will use t©
perform that task.
(A) Coding
(B) Maintenance
(C) System Design_
(D) System Analysis
% Fd ® AR W gEen ¥ Faa
& s i &, i R 96 I B 0 B
I B
(A) ®ifEw ’
(B) #feiw (vaw@m)
(C) fo=w feamg
(D) R fagawor (gTiTRE)

Which colour of light deviates maximum in the
dispersion of white light by prism? '~
(A) Green (B) Red

(C) Violet (D) Blue :
Rrow T TE Wl & fAR9 ¥ g & B @
aftreres frafea dar 3 7 : _
(B) &=

(D) e

&
feg

(A) &
(C) ¥

5 Which is not a funciton of the Bureau of Public
" Enterprises of Rajasthan?

(A) To coordinate working of various state
enterprises.

(B) To serve as a clearing house for the collection
of information for all state public sector
undertakings. :

(C) To issue guidelines to private enterprises in
Rajasthan.

(D) To monitor the functioning of all state public
sector undertakings.

TR & QTS SUHT S 1 B a1 B T8 & 7

W) T & fafh= Sumdl & sriyome § @9l
B .

XB) U & i wRS &% % IUHAl B T gE
THT B &g MG To W Fa w0

\(C) T ¥ Pl syl &t s 3

(D) & Trdwis & B SUHA & Bl b P

ST ‘

Who among the following participants stood first
runner up in Femina Miss India 2022 Competition?
(A) Seeni Shetty (B) Rubal Shekhawat
(C) Kanika Singh (D) Yamika Sain

i B afegr 2022 wRraifian & Freafafea & )

& &y g T o WY
(A) R e (B) ®aw@ drarad
©) =fra fiye (D) atftrer &4

[ Contd...
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. e fi v - 0 ge oF
\ Rajasthan? Ollowing is latitudinal extension

\98 Neha Walked 5 km towards west from her school.

’

.l'?
?g ;(
g

N9 The value of 772641 is -

. \]40 'Indira Gandhi Urban Employment Guarantee

E’;; = 30 North and 30° 21" North

(©) 230 g3 South and 30° 12' South

() 35 oy o nd 30 12 Yo

By & & aihNonh and 30° 12.South

™ | Tt @ st fomar 7

) 23° 30" 5wy g 300 21' TR

(B) 23° 30" aftqor o 300 12' 2

(C) 230 o3 AT uE 30° 12' W
(D) 23° 03" v wg 300 12

The'_‘ She turned to the right and walked 4 k.
A'galn she turned right and walked 5 km. In which
¢ direction she s going?
(A) East (B) West
(C) North (D) South
e o e & o @ ol 5 Redt T 1w
6 Tl i gew 4 P w1 g @6 S o
TeHT 5 folt aweht 1 7w fow Rem & o @ 37
™) (B) it
(C) T (D) =l

J772641 W AR ¥ -

(A) 891
- ~C) 879

(B) 889
(D) 871

Scheme' of Rajasthan was launched on -

(A) 8t November, 2022

(B) 18" November, 2022

(C) 15" August, 2022

(D) 9th September, 2022

T & 3R ey el T MRE A

N{2 Which of the following is dias

first privately

developed Rocket?

(A) -Vikram-S
o) PSLV-G
f) PSLv-xL
o) Vikrant-S

Y A P @ 9 B
e &7

W) fowm - qa
OB) droguadr -

(C) duguedr - gaaTe
D) fabia - ww
(o)

TlQWhich is the famous dance form of the Jaipur
L{®harana?

("PA) Kathak (B) Kathakali
ONC) Odisi (D) Bharatnatyam
Ot o a1 wfrg 70 &9 &1 87

(B) ®uHar
(D) wX@Ead

o)

€ options given below :

'\lkﬁill in the blank with appropriate determiner from

pen will do.
) Much (B) Enough
(C) Many (D) Any

8 Vho was declared the Indian Film Personality of
ote year at IFFI (International Film Festival of

dia) 2022 held at Goa?
) Prasoon Joshi ~ (B) Manoj Bajpai
) Hema Malini (D) Chiranjeevi

§ i o uh k.o, (W s
wARIE) 2022 ¥ Rl ad @1 sl Reew e

fopan T ? :
UTCH %9 foHar T ? :
(A) 8 =T, 2022 F \A) T R (B) o1 sy
(B) 18 Tamw, 2022 F OFF) ¥ e (D) fortsirh
(C) 15 3mm, 2022 & o LN : -
(D) 9 R, 2022 ® \%‘Y\EVorld's Iargc?st museum of Harappan culture is
eing setup in - :
1 _ W) Bam.vali (B) Rakhigarhi
111 If logy; x =, then x is equal to - (C) Lothal (D) Kalibanga
: TW TRIAT AU fasg @1 way TETe
qﬁlognx:%,?ﬁxm%— o @R - _ ! L
(A) 9 (B) 27 (A) T ¥ (B) rdmdr §
© & D) 3 (C) wew ¥ ) W
avs2] O 12 [ Contd
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1% i\zi}l:ll;rzg the following igneous rocks e found
(i) Gabbro
(ii) Granite
(iii) Rhyolite
(iv) Basalt
(A) (iii) and (iv)
(C) (i) and (ii)

7

(B) (i) and (iv)
(D) (ii) and (iii)

friftha & & B9 A e TE W A 2
e wrg @t.
(i) ¥ (o)
(i) TAETEe p)
(iv) @ (4
| ) Gina v B GHadgy N
: ©) ()= @) (D) Gi)yaGiiy N
11X Which one of the following Samskaras is mted
to birth?
(A) Samela (B) Jadula
(C) Bindoli (D) Mosar
fr ¥ § -1 G o ¥ atya ¥7
(A) @ (B) g
(C) R (D) T

118 The birth place of Gogaiji is

35963 223596

(A) Dadrewa (B) Mallani
(C) Kolu (D) Kolayat
R R I C s 1 S J

(A) @@ (B) HATeAMI
(C) @i (D) Hiemad

!

«
w

1 Under MNREGA, minimum
mployment is provided.

Join Telegram=-sreup—GovdobsAdda.in®

What number must be added to each term of the
ratio 4 : 5 so that it may become equal to 5 * ?

m4:5%mwﬁmﬁmaﬁamaﬁ
a5 U 5:6 qUET & W ?

}is

(A) 3 2% ®) 4
\K‘t A pair ofrgenes‘with contrasting characters iS
termed as :
(A) Heterozygote (B) Allele
(C) Homozygote (D) Genotype
frofra wel am A & TS B Hed ¥
(A) fragmst (B) thwm |
(C) wwgm™« (D) S ey

The monthly incomes of. A and B are in the ratio
4 : 3. Each of them saves ¥ 600. If the ratio of .
their expenditures is 3 : 2, then the monthly income
of B is - co
A @ B wiftd omg § 4:3 & oua ¥ A
¥ v T 600 aarar ¥ 1 afk I & el T = B
o 3:2 ¥, @ B @) Wfts o wi -
(A) T 1,800 ) T 3,600
e (C) T2,400 (D) ¥ 2,000

g

\2\6. Ty eTE @7 wd) afu-fawde ¥ -
(A) &g+ T (B) &+ T
(C) & +quor (D) 7 +qu9

127 In which city, ‘Invest Rajasthan Summit’ was
organised from 7-8 October 20227

FOM & S FAa et @t T :

var fpan s ¥ ™M (A) Jaipur (B) Kota

(A) 130 (B) 150 O (C) Jodhpur (D) Bikaner ,

(C) 100 (D) 120 N . 7-8 arrzaR 2022 B 6w T § T T wie’

ToN & o foar T ? .

124 The third highest peak of the Himalayas im (A) wEgR (B) #r

(A) Nanga Parbat (B) Nanda Devi

(C) Makalu (D) Dhaulagiri S (C): g (D) drr

fomera @t drrty et o adr ¥ - N -

(A) =m gad (By a1 ECl 128 The area of an equilateral triangle is 255 cm?,

‘ (C) wam (D) drenfirdy 8 then its perimeter is -

123\ Where is factory of Parle Biscuits loca@ in (A) 5043 em (B) 60 cm

Rajasthan? L0 (C) 30 cm (D) 50 cm

(A) Negmrana (B) Jaipur ™M T g B &1 aeee 253 A2 Y, 79 T

'(C) Bhilwara (D) Bharatpur ] g & -

T & e faRae ) FE Rad 7~

(A) e (B) SR (A) 5043 ¥ (B) 60 &

(C) et (D) WA () 30 ¥ (D) 50 &

Hvs2 ]
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in the
(A) Go awarj s (B) Brahmaputra
1(;:3)3 Ganga (D) Indus
RURSEC R HAtardra AL |
ARam g - "
(A) e ' (B) RGN
(©) (D) fig

1{0 Who wag the
-Commission?

(A) Fazal A} (B) V. Patel
(©) H. Kunzry (D) K. Panikkar
T e aminr & oram & 42

(A) %ot arehy (B) . wew
© W gw . (D) ¥ artec

~3! “Mahi Kanchan’ and ‘Mahi Dhaval’ are the

varieties of which crop?

(A) Maize (B) Gram
(C) Bajra (D) Jowar
TE HET AT W v Rew waw @) feer ¥7
A) T (B) T
(C) sw D) =

132 If cos0=%, then tan® =2

afx cos0=%,a’f tan @ = 2

b

a
(A) fi2_z2 (B). b2 _ 2
/.2 2 [2 2
(©) % . (D) NbT-a®

b

N33 Which of the following factors is not responsible

for governing the climate of Rajasthan?
(A) Prevailing winds

(B) Rainfall being fairly uniform
(C) Temperature

(D) Distance from Sea

Prtifee & ¥ B9 @ are ToRaE @&
Preifa &t & fog worcerdt =8 &7
(A) wafad g

(B) aui & wow fygor

(C) amu™

(D) wgz & gl

uvs2] )

chairman of State Reorganization

A

Qg B

! =~

213
e R IR

L]

1

14

\
w A sum of money double

v

\& If in a code language CREW

.
/s 5

: s itself at compoun

¢ ny years will j
interest in 15 years. In how M2 v

* become eight times? :
wmwmmﬁ'smﬁjmamt
ﬁ)‘dﬁaﬁﬁwm’ﬁﬂw'

(A) 60 B) 75
© 30 (D) 43

W3S Yovargs’ gdam ¥ -

(A) B - (B) #%
(C) P . (D) =

}35 Under whose chairmanship was. the Mewa

Prajamandal founded in 1938? 1
(A) Jamnalal Bajaj ' ]'
(B) Balwant Singh Mehta |
(C) Nayanu Ram Sharma |
(D) Kapurchand Patni .
WIS YOTHUSH 2 wrqe Reud) oregEar ¥ 1938
g7

(A) ST SIS “
(B) sweEa Rz dwar ’ J
(C) “wm st |
(D) Fyxaz wreh

31\The time it takes a device to locate data ang

instructions and make them available to CPU i
known as :

(A) Access time (B) Processing cycle
(C) Data speed (D) Clock speed

m%aehtmmmﬁr.q. B YA 1T
¥ T EH wE b |
(A) THRY zIgw (B) R ws (cycle)
©) ¥ e (D) Wi wr

IS written as 9¢ an

COURT is written as 154, then how will CRATE

be written in that Ianguage?

uﬁqmﬁwﬁcmwﬁ%ﬁﬂmm
COURT?5‘1154RW1W%.?&WWI¥C§A:‘:
@ forw wER T st 2

(A) 94 (B) 98 ' J
(©) 47 (D) 90 . |



L

139

1

Join Telegram Group "GovJobsAdda.in"

The difference between Sugar mole \«
and RNA is - Cules of DNA

(A) absence of mtrogen at 3-C

(B) presence of nitrogen at 2.C

(C) absence of oxygen at 2-C

(D) presence of oxygen at 3-C

AT X AT, F b

(A) 3-C T I F I wﬂﬁmt
(B) 2-C 9T Tigze & Suftufy

(C) 2-C 9T TN & 3Hg

(D) 3-C 9T Aiada & Iuitafy

The chairman or the member of Rajasthan Public
Service Commission can be removed earlier before
the completion of their tenure by -

(A) State Legislature (B) Chief Minister
(C) Governor (D) President
TR T HaT AT % AeAE q7 93 @) B
B wia ¥.qd Rha® w0 s o wear 37
(A) fam ww g (B) g&@ w5 @@
(C) Tmmm Ea (D) i g

14t Falku Bai of Kishangarh is associated with whlch

142

BLY

nvs2] )

dance form ?

(A) Kalbeliya (B) Chari

(C) Chakri Dance (D) Terahtali
e & wog od e T A R ¥ 7
(A) weafaar ~ (B) Tl

(C) =&l A (D) wEaTr

Structure of Xe F" ion is —
(A) octahedral

(B) pentagonal

(C) trigonal bipyramidal
(D) square pyramidal

XeFy' omam & ¥waT ¥ -
(A) I<HTRT

(B) daaim

(C) Pt fERitfd
(D) =t frthdg -

Translate the following sentence into Hindi :
Women learn English faster than men.

(A) it @ gout ¥ g s sfieh drard T
(B) gost @ mieenslt & wed siireh e =il
(C) gow ofital & it affiehl @ad )

(D) mmammmmm

Ngo

150

15

Diamond is a -

(A) Isotope of carbori
(B) Isochore of carbon
(C) Allotrope of carbon
(D) Isomer of carbon
sHe ¥ -

(A) FEF & gEeEtIE
(B) & & gHIATAATD
(C) & &1 HUEA

(D) & B gl

with which folk art is Jankilal associated?
(A) Tamasha (B) Baharupiya
(C) Nautanki (D) Phad |
FFEE fhe de-Her § g=tug ¥?

(A) =T (B) w&shyan

(C) it (D) w3

Example of logical operators is :
TifTbe SHTALE 1 SeTeTe ¥
(B) XOR

A) if

© > (D) +
B IE JE &Y

(A) T YB) sﬁanf
(C) g (D) Ba

The range from the following, belongmg to the
lesser Himalayas, is -

(A) Mahabharat (B) Given all,
(C) Pir Panjal (D) Dhauladhar
Frafafen & & Frea-feneg & wefta e ¢ -
(A) wE™E (B) @ ™ a+ ‘
(C) 9T du= (D) H@™ER

Geo-stationary satellite revolves at

(A) Any height above the poles -
(B) Height which depends upon its mass
(C) Any height

(D) Fixed height .

-Rat Iy gwar ¥ -

(A) gai ¥ o P S W

(B) Surg & wamm 9T Pt &

(C) & i Fard o

(D) Rax &= o
Rheumatoid arthritis is a/an disease.
(A) bacterial (B) fungal
(C) autoimmune (D) hypersensitive
RS aneEied o T
(A) strafes (B) s
(C) wmfafyg (D) arfosady
" [ Contd...



